FOR REMOVABLE LIP 4 & 6

DOCUMENT # 68305-01

KNAPHEIDE VAN EQUIPMENT INSTALLATION INSTRUCTIONS KNAPH ElnE

SINCE 1848

33897725 Hardware Kit
QTY PART # DESCRIPTION
7 33897089 M6 x 12 Flange Screw
7 33897092 M6 Pawl Nut

The Wide-4 and Wide-6 Removable Lips are compatible with
all Wide-4 and Wide-6 upgradable shelves. The lips are de-
signed to aid in retaining items on the shelf. The kit includes the
removable lip and mounting screws and nuts.

NOTE: The Removable Lips are compatible with Upgradable
Shelf Dividers.

Align the shelf lip with the mounting holes on the front edge of
the upgradable shelf. Use the M6x12 screws to attach the lip to
the shelf, filling as many holes as possible.

NOTE: The Wide-6 shelf lip has more available holes than
hardware. Fill as many holes along the front edge of the lip
before filling the corners. In this situation it is acceptable to use
both M6x12 and M6x14 screws.

Use the M6x14 screws to fasten the corners of the lip.

NOTE: The M6x14 corner screws are long enough to pass
through the shelf lip, upgradable shelf and end panel. The
M6x14 screw is not long enough to pass through a second
shelf and shelf lip. In this situation it is acceptable to leave out
one of the corner screws.

This document must not be copied or communicated to a third party without the expressed
authorization of The Knapheide Manufacturing Company.
FOR REF ONLY
Printed copies are uncontrolled.




KNAPHEIDE

SINCE 1848

KNAPHEIDE VAN EQUIPMENT INSTALLATION INSTRUCTIONS
FOR REMOVALBE LIP 4 & 6

DOCUMENT # 68305-01

This document must not be copied or communicated to a third party without the expressed
authorization of The Knapheide Manufacturing Company.
FOR REF ONLY

Printed copies are uncontrolled.




